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Instructions for Candidates

1.  Answer any 4 questions.
2. All questions carry equal marks.

3. Answers may be written either in English or in Hindi, but the same medium should be used
throughout the paper.
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Q. 1. a) Discuss the central problems of an economy in the context of scarcity and decision

making.

b) How does an increase in the price of sugar affect the equilibrium quantity and price of

coffee? lllustrate using adiagram.

c) Suppose the government imposed a price floor on the rental price of labor higher than

equilibrium price. How does this affect the market for labor?
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Q.2 a) Qd = 180 - 2P

Qs=-15+P
If a tax of Rs 2/unit is imposed on sellers, calculate the effect on the price paid by buyers
and price received by sellers. Demonstrate that the effect would be unchanged if the tax

had been imposed on buyers instead of sellers.

b) Suppose a technological advance reduces the cost of making mobiles. Use a supply and
demand diagram to show what happens to consumer surplus and producer surplus in the

market for mobiles.

c) The individual’s supply curve of labour is backward bending, however the market supply

curve of labour is always upward sloping to the right. Do you agree? Explain.
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Q.3 a) Usingthe ordinal approach explain the concept of consumer’s equilibrium. Suppose the
price of commodity Y rises and the income elasticity of commodity Y is negative. lllustrate the
effect on consumer’s equilibrium using appropriate diagrams(take good X on the horizontal axis

and good Yon thevertical axis).

b) Give an example of an opportunity cost that an accountant might not count as a cost. Why

would the accountant ignore this cost?
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Q .4 a) Explain why in the short run, the equilibrium price of the perfectly competitive firm is
equal to marginal cost andin the long run, equilibrium price is equal to marginal cost as well as

average cost of the firm.



b) lllustrate diagrammatically the profit maximizing condition of a monopolist. Does the
monopolist always earn supernormal economic profits in the short run? Explain using an

appropriate diagram.
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Q. 5. a) Briefly discuss the necessary conditions for price discrimination. What do you

understand by the term ‘perfect price discrimination’?

b) Show that the value of marginal product of labor is also the demand for labor. What are the

factors that affect the demand for labor?
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Q .6 a) Use a production possibility frontier to describe the idea of efficiency.

b) What is the deadweight loss of a tax? What are the determinants of the deadweight loss

from a tax?



c) The demand for apple orchard workers is given by the equation W = 80 - 3 Q and the supply
is given by W =30 + 2 Q where W is the daily wage rate and Q is the quantity of port workers.

Calculate the elasticity of demand and elasticity of supply of labor at the equilibrium W.
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